
andrew.carlson
Typewritten Text

andrew.carlson
Typewritten Text
Available from Allparts Equipment and Accessories - 1-877-475-5660 - www.allpartsinc.com

andrew.carlson
Typewritten Text

http://www.allpartsinc.com


Parts List for RA5K80V1D Type 0

Item Number Part Number Description Qty Required

1 ABP-8226501 KIT HARDWARE ABAC B5 1

2 ABP-5961405 HEAD 1

3 ABP-5940050 KIT VALVE PLATE ABAC 1

4 ABP-5950057 KIT GASKET 1

5 ABP-5281100 FILTER 1

6 ABP-5981000 ASSY FILTER ABAC B59 1

7 ABP-9024011 OIL FILTER PLUG (ABA 1

8 ABP-9022003 ASSY SIGHT GLASS 1

9 5140026-18 BEARING SPLIT CONN R 2

10 BAL-1000417 WASHER FLYWHEEL NS39 1

11 ABP-9110022 SCREW FLYWHEEL 1

12 ABP-4000101 FLYWHEEL ABAC B5900 1

13 ABP-5962020 INTERCOOLER 1

14 ABP-8226502 RING RUNNING GEAR HP 1

15 ABP-8227093 KIT HP RING 1

16 ABP-8227092 KIT LP RING 1

17 ABP-8226503 KIT RUNNING GEAR LP 1

18 ABP-9101164 SCREW M10-1.5X15 SKT 1

19 ABP-9162030 SEAL DRAIN PLUG 1

20 D20567 KIT EXTENSION DRAIN 1

21 000000-00 No Longer Available 1

22 000000-00 No Longer Available 1

23 000000-00 No Longer Available 1

24 000000-00 No Longer Available 1

25 000000-00 No Longer Available 1

26 000000-00 No Longer Available 1

27 000000-00 No Longer Available 1

Page 1

andrew.carlson
Typewritten Text
Available from Allparts Equipment and Accessories - 1-877-475-5660 - www.allpartsinc.com

andrew.carlson
Typewritten Text

http://www.allpartsinc.com


Parts List for RA5K80V1D Type 0

Item Number Part Number Description Qty Required

28 000000-00 No Longer Available 1

29 000000-00 No Longer Available 1

30 000000-00 No Longer Available 1

31 Z-ABP-459 PUMP ABAC COMP B5900 1

32 SSF-3140-ZN SCREW .375-16X1.00 H 1

33 SSF-8111-ZN NUT .375-16 HEX WHIZ 1

34 000000-00 No Longer Available 1

35 000000-00 No Longer Available 1

36 A17038 DRAIN VALVE 1

37 000000-00 No Longer Available 1

38 SSP-7811 ASSY NUT SLEEVE 1/4 1

39 000000-00 No Longer Available 1

40 000000-00 No Longer Available 1

41 000000-00 No Longer Available 1

42 000000-00 No Longer Available 1

43 000000-00 No Longer Available 1

44 SSP-7824 ASSY NUT SLEEVE 5/8 1

45 000000-00 No Longer Available 1

46 SSP-6461 ELBOW 1/2NPT X 5/8 T 1

47 SS-3222-CD PLUG PIPE 1

48 000000-00 No Longer Available 1

49 SSF-8111-ZN NUT .375-16 HEX WHIZ 1

50 000000-00 No Longer Available 1

52 SSP-7824 ASSY NUT SLEEVE 5/8 1

53 5130039-00 SLEEVE 1

54 000000-00 No Longer Available 1

Page 2

andrew.carlson
Typewritten Text
Available from Allparts Equipment and Accessories - 1-877-475-5660 - www.allpartsinc.com

andrew.carlson
Typewritten Text

http://www.allpartsinc.com



